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el sEel 28 JIE X F (=& &)
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= 10,678,195 11,709,742 A 1,031,547
TAXIE Y NEASE 235 1,927,391 2,218,006 A 290,615
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= 1,873,772 2,164,387 A290,615
SuEo 28 I8 TF 251,990 260, 186 A8,196
< 7,500 7,500 0
= 244,490 252,686 A8,196
=8 FRIUF FA 239,490 247,686 A8,196
201 2 Et2 3| 103,810 107,240 A 3,430
01 AR 22| bl 103,810 107,240 A 3,430
o2g=¢ 8,450 11,880 23,430
—2dEH &Y 70,000& *35Y 2,450 5,880 A 3,430
202 O B 17,100 17,700 A 600
01 =LH 4 HI 17,100 17,700 A 600
Od A &= 60,0002 x2H «10! 1,200 1,800 A 600
301 et A3 1,280 5,446 AN4,166
09 HALAHIXNIE = 280 4,446 A4,166
O=Y & NLER 5 MUY 0 1,800 A 1,800
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S8 o 29 228,237 221,997 6,240
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301 et 2 5,480 5,640 A 160
09 HALAHIX &2 5,480 5,640 A 160
O0tote oiatstn 29 5,480 5,640 A 160
— Ty AL 2t4 1,040 1,200 A 160
oatEd 29 196,397 189,997 6,400
201 Let29Y| 46,800 39,800 7,000
01 At 22|l 46,800 39,800 7,000
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202 OF HI 5,400 6,000 A 600
01 =LH bl 5,400 6,000 A 600
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201 Yot 2 bl 115,710 164,050 48,340

01 A2 22l 105,000 139,050 £.34,050

OAEAVE FHLL () 65,000 75,000 10,000

OZSZAHI(Z) 20,000 30,000 £10,000

OEX, 22, Zul, ¥ YINE(E) 0 10,000 A10,000
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02 B2 0 10,000 10,000
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03 A2 | 10,710 15,000 A4,290

O=H 25RE 2F(E) 710 5,000 £4,290

202 04t 55,000 85,000 30,000

01 S LHOIYI 5,000 20,000 A 15,000

OMOILL 2 938 S(Z) 5,000 20,000 15,000

03 22/ 201t 0 15,000 15,000

OZMLEAY B2 =& (E) 0 15,000 15,000

301 LB EI 3,500 45,000 A41,500
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— & 0 2,500 A2,500
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09 BAAIHIXI &3 3,500 15,000 A11,500
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2R A 1,466 2,840 ~1,374
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01 At 2+2l 648,420 801,020 £ 152,600

Oger+ g 646,980 799,580 £ 152,600

- 23 FQ 2 %= 326,800 434,400 £107,600

S YURX (M=, XW) 2,000,008 «397H At 78,000 128,000 50,000

LIV 700,0002 *87H At 33 16,800 22,400 5,600

-FIN 1,500,000 *87H At 12,000 24,000 A 12,000

Y, SHE S AN B 40,000 80,000 £40,000

~HEA 2B 2D 10,000, 0008 43| 40,000 60,000 £20,000

— 2% AAX ME  1,250%+10,000% *23! 25,000 50,000 25,000
YHYPo 58X 22 ¥ 23 N 8,900 15,900 A7,000
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201 Yet2 | 6.600 13,600 AT7,000
01 At 2+2l I 6.600 13,600 A7,000

Oger+ g 5,400 12,400 AT7,000
—olFH(EX+Y) 28 FUHEEAM 0 7,000 A7,000
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= 16,119 16,119 0

2 72,539 75,809 £3,270
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201 Yute F | 22,432 23,572 A1,140
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201 Yot | 7,630 9, 160 A1,530
01 At 2+2l 7,630 9, 160 A 1,530
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OaM 2 g2t NE 23 S|
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202 01 360 600 £240
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01 S LHOYI 360 600 A 240
OSHE & 2Dl EE

60,0003 x2H 32 360 600 A 240
AEHR X2 84,680 85,280 A 600
LE5YR 84,680 85,280 A 600
202 Oddl 1,200 1,800 A 600
01 = LH 4 HI 1,200 1,800 A 600
OLsgR =¥ 60,0003 x2H 102! 1,200 1,800 A 600
HY2IZH (OI0aa) 229,947 234,947 ~5,000
Jl= &3l 98,934 103,934 A5,000
Jl=dl 98,934 103,934 A5,000
202 04l 31,032 36,032 A5,000
01 = LH 4 di 29,232 34,232 A5,000
O= UG (2LH) 16,536 21,536 A5,000
oll 5l gl 8,504,476 9,240,408 A735,932
0l 1 8l 8,504,476 9,240,408 A735,932
ol g1yl 8,504,476 9,240,408 A735,932
801 olBIBI 8,504,476 9,240,408 A735,932
01 etaiidl gl 4,043,974 4,779,906 A735,932
oolslsl 4,043,974 4,779,906 AT735,932




